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(A)Sleeper (B) Stay over (C)Walk-in (D) Check-in
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(A)American Service (B) French service (C) Russian Service (D) English Service
4. A ERFEHA? (A)captain (B)host (C) Stewarding (D) waiter
5. RARBEERAHENREY A MAMAA:  (A)captain  (B) hostess (C) waiter (D) sommelier
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14. BEIRAH%E T# AR, 9% (A) Double Double Room (B) Twin Room (C) Quad Room
15. THH—-EREBREEHLRORE - HAEEMHRBLE?
(A) Four Seasons (B) Mandarin Oriental (C) Shangri-La (D) Sheraton -
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1. What are the advantages and disadvantages to accepting a management position in Independent

and Multi-unit Hotel organizations? (25 %)

2. QGuest safety is a primary concern of all hotel managers, and each hotel facility will have its own
safety issues. Please identify and explain three steps to plan an effective threat analysis program.

(15 )
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A. %458 (Gantt chart) B.&lA& (scenario)

C.#Z%3% % (bench marking) D. E% K (Zero-based budgetung chart)

20, VBEITHTBATESE  B-OARAE—BEH Mz b
A T E ¥ B AP C H4E4 D EHRBEE




